Verb Collocations and
CEFR Criterial Features

Satoru UCHIDA
Kyushu University

A small quiz...

Q. Can you list a few nouns that come
after the verb “make”™?

make + (a/an/the) noun

1. cake
2. breakfast / lunch / dinner
3. friends
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What about learner’s input? Introduction
[Aims]
(1) To clarify how verb collocations differ among the
Output CEFR levels
JEFFL Textbook (2) To examine if verb collocations can be used as
BNC criterial features for the CEFR levels
4 % mxs 5 & homke
Target of the study Overview

 get, have, make

VERB + nouns/adjectives/verbs
[within 4 spans]

Data: Textbook corpus

Methodology: correspondence analysis

Results of correspondence analysis: get, have, make
Discussion: Level discrepancies

Conclusion and Future Tasks




Data

» Textbook corpus

Al A2 Bl B2 C Total

164,585 278,750 486,787 582,763 302,149 1,815,034

* *C1 and C2 are treated as one category due to the
limitation of C2 data.

* *Vocabulary sections in each textbook are not included
in this study.

Target tags

<part="READING” page=“XX">...
... <w c7="VVN" c5="VVN" hw="make"
pos="VERB">made</w> ...
</part>

[node]

hw="“get”, hw=“have”, hw="make”

[collocators)

Pos=“VERB”, pos="SUBST" (noun), pos="“ADJ"

8 % hake 9 I % hoaiae
Contingency table Methodology
. words * CEFR levels + Correspondence analysis
* Rver. 3.2.2
words Al A2 Bl B2 C * MASS library: corresp function
ache(n) 0 5 0 0 0 CEFR level
al I (a) 5 4 5 6 v Al A2 B1 B2 C1 C2
any(a) 41 25 10 8 7 Word] 36 37 4 3 2 4
bad(a) 4 4 6 2 3 O Worc2 5 7 25 34 19 10
be() s 9 16 17 2 She | oom 4B
big(a) 6 6 6 2 3 & [Words 8 7 5 2 36 33
book(n) 75 1 0 S [Nerer 59 0 w2 oa
brother(n) 13 3 1 1 0 @ Worde 6 17 56 42 11 14
or 43 35 9 19 16 17
Car(n) 5 9 5 4 2 worz?o 40 43 46 22 38 9
card(n) 6 4 1 2 0
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How to read

-0.5 0.0 0.5 -0.5 0.0 0.5
Methodology . . . the result ' '
et
» Correspondence & & X axis: Le
o | C1 Word7? i . o | C1 Word?
* Rver.3.2.2 s First principle <
* MASS library: corr i component Wordd
CEFRI 3 Wordo—— LS
Y axis: Va6 =
Al A2 - A2 Wordd
Word10 Word2
Word1 35 37 Second principle Word1 r =
)| Word2 5 7 component =
O |Word3 34 44 & Yorss 5
O |Word4 1 23 B1 <
& [words 8 7
O |Word6 40 16 o
& |Word7 6 7 ]
Words 6 17 ; J : ; ’ ’ ‘
-1.0 -0.5 0.0 0.5 -1.0 -0.5 0.0 0.5
Word9 43 35
Word10 40 43
12 ¥ fu 2 13 ¥ fu 2
/w . 05 1.0
| higher |,
knowiv) " g
get get S T ds in Al A2 clust
c ake(v) cores of words In and clusters
w f fish
o weastaln) horolate(n) Al Al [1] [2] CEFR' A2 [1] L2] CEFR
Btzbe{v) allja) " _se'& %] egein) 1.3704 | 06132 | A1 ache(n) -0.0151 ||-1.6312 ||B1
' flour(n) 13704 06132 | A2 player(n) -0.0151 || -16312 ||A1
= paétant(aister(n) o
=1 ix(a) =} orange(n) 1.3704 | 0.6132 | A1 headache(n) -0.108 || -1.3837 ||A1
sandwich(n) 1.3704 | 06132 | A1 cold(a) 007676 || —1.1341 (A1
T nEW(;ﬁark[ skateboard(n) 1.3704| 06132 | B2 edin) 0.38078 || -0.9899 ||A1
2 - a;)re':f{’a“;‘“"—"'dim chocolate(n) || 1.2714| 04529 | A1 dogin) -0.0654 || -0.8892 [|A1
> sevenla) 1.1725| 0.2926 | Al great(a) -0.2335 || -0.5672 ||A1
doalp) s spend(v) 1.1395 [ 02392 | A1 child(n) 0.25922 || -0.4703 ||AT1
2 4 cd(n) mobile(n) 1.0503 [ 03627 | A1 friend(n) -0.0877 || -0.4599 ||A1
cold(a) Az fish(n) 1.031| 05279 | A1 idea(n) -0.52 || -0.4543 [|A1
sister(n) 1.024 | 00521 | A1 old(a) -0.5805 || -0.3965 ||A1
- headache(n)
5 o . ; H
pepet) Fw * Blue: sorted in descending order
T T T
10 15 20 * Red: sorted in ascending order
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have . - have
Scores of words in A1 and A2 clusters
e Al [1] [2] CEFR A2 [1] [2] CEFR
guitar(n) 1.5898| 1.0056 | A1 fish(n) 1.15305 || -0.1649 | A1
o | vegetable(n) | 1.4734| 06934 | A1 cd(n) 0.86213 || -0.5402 | A1
° orange(n) 1.4588| 0.6544 | Al hair(n) 0.81203 || -0.2748 | A1
egg(n) 1.4401| 0.6043 | Al pet(n) 0.80028 || -0.1982 | A1
s ice(n) 1.4151] 05374 | Al coffee(n) 0.74308 || -0.0807 | A1
flat(n) 1.3992| 0.4948 | A1 lesson(n) 0.734 || -0.019| A1
9 chocolate(n) | 1.3951| 0.8166 | A1 dinner(n) 0.7195 || -0.0082 | A1
' rice(n) 1.3569| 0.3813 | Al baby(n) 0.71053 || -0.0711 | A1
o salad(n) 1.2903| 0.2029 | A1 picture(n) 0.71053 || -0.0711 | A1
v milk(n) 1.2506| 0.7703 | Al fun(n) 0.66123 || -0.4468 | A1
chicken(n) 1.2044| 0478 | A1 child(n) 0.64405 || -0.0061 | A1
sister(n) 1.1856| 0.1468 | A1 room(n) 0.56826 || -0.2753 | A1
16 17 % nais
05 0.0 05 1.0
! A
have make e care( ™\
Scores of words in higher levels
higher [1] [.2] CEFR look(v) -0.6688 | |0.06482 | Al 2
steal(v) -0871 || 0.4031| A2 make(v) -0.6641 | | 0.0597 | Al A1
would(v) -0.8253 || 0.30976 | A1 learn(v) -0.6598 | |0.04904 | At | w
chanceln) | -0.7826 || 0.2595 | A2 say(v) -0.6461 | |0.15988 | A1 2 diflerence(nis(a) °
effect(n) -0.7727 || 0.23838 | A2 try(v) -0.6443 | |0.02849 | A2 C  these(a)
. note(n) Al-A2
leave(v) -0.7566 || 0.21282 | A1 give(v) -0,6388 | | 0.1617 | Al B1-BY some(a)
show(v) -0.7416 || 0.18359 | A1 use(v) -0.6379 | |0.00513 | At . ovnialsersence(n .
spend(v) -0.7242 || 0.14033 | A1 help(v) -0.6333 | [0.00728 | A1 S thina(n)  question(n) S
comelv) -0.7236 || 0.15496 | A1 take(v) -0.6129 | |0.13842 | A1 iehd(n)
happen(v) | -0.7208 || 0.14714 | A1 know(v) -0.6095 | [0.13851 | A1 simp,’:%égam{a)
become(v) | -0.7189 || 0.14912 | A1 belv) -0.6032 | |0.10487 | A1 p . new(a)
ask(v) -0.6799 || 0.08836 | A1 finish(v) -0.5954 | |-0.0459 | A1 roise N / bt
tell(v) -0.6787 || 0.28465 | A1 arrive(v) -0.5891 | |-0.0943 | At 05 00 05 10 s
18 5 Ao 19 £ noce




make Summary (1)
Scores of words in AT-A2 and B1.82 clusters » The first principle component distinguishes. _
A1-A2 (0 [t2) [cerr Bi-82  |L1] (2] CEFR A1 from others '
cake(n) 13686 | 1.374 | Al get(v) -0.225 | -04113 | A1 * The second principle component
question(n) | 0.8349 | -0044 | Al money(n) -0.113|  -041 | Al distinguishes A2 from others Ve
negative(a) | 0.7675| -0.405 | A2 have(v) 00924 | 01554 | A1 —Collocations of basic verbs function as a '
sentence(n) | 06888 | 00293 | A1 decision(n) | -0.2207| -0.1236 | B1 criterial feature for the CEFR levels .
simple(a) 04935 | -0.358 | A2 belv) -0.0861 -0.1175 | A1 o
thing(n) 0.3839 | -0.034 | A1 life(n) -0.346 | -0.1169 | A1 g
newla) 03758 | -0.465 | A1 surela) -0.1893 | -0.1104 | A1 ~
ownl(a) 0.3663 | 0.0557 | Al people(n) -0.2142 | -0.0306 | Al
friend(n) 0.2068 | -0.193 | A1 feel(v) -0.2876 -0.007 | A1
noise(n) 0.0366 | -0.568 | A1l
mistake(n) 0.0062 | -0.087 | A2
20 % ok 21 I
Summary (2)
Summary (1) get:

» The first principle component distinguishes.
A1 from others

* The second principle component
distinguishes A2 from others

—Collocations of basic verbs function as a

criterial feature for the CEFR levels

22

» A1: concrete objects (e.g. egg, flour, orange, sandwich)
» A2: becoming get (e.g. get cold, get old, get dark)

» Higher: some idiomatic expressions (e.g. get to know, get
used to)

have:

* A1 and A2: concrete objects (e.g. [possession] guitar, sister
[eating] vegetable, orange)

» Higher: perfective (e.g. have stolen, have left, have shown)
make:
* A1 and A2: creative make (e.g. cake, sentence, question)

* B1 and B2: earning make (make money), doing make
(make decision), causative (make X feel)
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Discussion: Level discrepancies

have (A1) + chance (A2) ... higher than B
have (A1) + effect (A2) ... higher than B
—implies a need for considering “combinations of words”

Scores of words in higher levels

higher [t Ita [ cernm Iookly 06688 | 0os4e| A1
[stealty | -0871| oso3flaz | makelv) | -06641 | ooss7] A1
[ wouldlyv, [ 08253 [ 0.309 76} Iﬁl | loarn v, 06598 | 004004 A1
[-oe2s| ozsed[az | saylv | os4s1 | 0.15c8e]| A1
[affectim | 07727 | ozasagl[ a2 | trylv) | 06843 | nozeag|| az
| | 0'.":55. D?:?ﬂz‘*\l | givelv) | 06323I 0‘5‘.7.’\'
I -OT'HE\I D‘SSE!IAI .\I'I'u | Uﬁ3f9. 0.00513 .Il'
| o724z | oraoaf[ar | helplv) | -06333| 0.00726]| A1
| 01215 0.15494 .AI | takely, | USI?QI 0.1384; I Al
.h.!pr.r"- v} | O.T?DB. D!-‘?il .!\l | ."Huvk v, I USU'J'Jl 01335'.. Al
becomelv. | 0.718% | 0.14912 I!\l balv, | U5U32. 0 |U-\B.'. Al
[[aes | os700 | oossagf| a1 | [feishte) | -05954 | —on04sd|| A1
I 06787 | 0.2846H | Al | arrively, | 05891 | 00547 [ Al
24 & FuHk5

Conclusion and Implication

» Verb collocations statistically distinguish CEFR-
levels. Especially, A1 and A2 are distinguished
statistically from higher levels

* The nouns that collocates with the target basic
verbs denote concrete objects

» Collocations should be taken into account when
discriminating CEFR levels

—>”B level barrier” (80% of JE belong to A level)
—->From Concrete (A level) to Abstract (B level)

25 % nais

Future tasks

A sample list of collocations for each CEFR level

make v. (A1)

+ NOUNS

A1: cake, dinner, breakfast ...
A2: question, noise, mistake ...
B1: decision ....

B2: ...

Thank you for your attention!

« Satoru UCHIDA
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